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QUESTION 1

You have recently deployed a dynamic VPN. The remote users are complaining that communications with devices on
the same subnet as the SRX device are intermittent and often fail. The tunnel is stable and up, and communications
with remote devices on different subnets work without any issues. Which configuration setting would resolve this issue?
A. adding local-redirect at the [edit security nat] hierarchy

B. adding local-redirect at the [edit interfaces ] hierarchy

C. adding proxy-arp at the [edit security nat] hierarchy

D. adding proxy-arp at the [edit interfaces ] hierarchy

Correct Answer: C

QUESTION 2

Which problem is introduced by setting the terminal parameter on an IPS rule?

A. The SRX device will stop IDP processing for future sessions.

B. The SRX device might detect more false positives.

C. The SRX device will terminate the session in which the terminal rule detected the attack.
D. The SRX device might miss attacks.

Correct Answer: D

QUESTION 3

What are two intrusion protection mechanisms available on SRX Series Services Gateways? (Choose two.)
A. routing update detection

B. traffic anomaly detection

C. NAT anomaly protection

D. DoS protection

Correct Answer: BD

QUESTION 4
You have installed a new IPS license on your SRX device and successfully downloaded the attack signature database.

However, when you run the command to install the database, the database fails to install. What are two reasons for the
failure? (Choose two.)

JNO0-633 PDF Dumps | JNO-633 Study Guide | JNO-633 Braindumps 2/3


https://www.passapply.com/jn0-633.html
https://www.passapply.com/jn0-633.html
https://www.passapply.com/jn0-633.html

VCE & PDF https://www.passapply.com/jn0-633.html
2024 Latest passapply JN0O-633 PDF and VCE dumps Download
PassApply.com

A. The file system on the SRX device has insufficient free space to install the database.
B. The downloaded signature database is corrupt.

C. The previous version of the database must be uninstalled first.

D. The SRX device does not have the high memory option installed.

Correct Answer: AB

QUESTION 5

Where does the AppSecure suite of functions occur in the security flow process on an SRX Series device?
A. services

B. security policy

C. NAT

D. session initiation

Correct Answer: A
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